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Directions to Solve: This Exercise Contain Cause and Effect question and answer. In each of the questions there are
two statements | and Il. These statements may be either independent causes or may be effects of independent causes or
a common cause. One of these statements may be the effect of the other statements. Read both the statements and
decide which of the following answer choice correctly depicts the relationship between these two statements.So select the
correct answer by clicking on Check your answer.

Give answer:

(A) If statement | is the cause and statement Il is its effect.
(B) If statement Il is the cause and statement | is its effect.
(C) If both the statements | and Il are independent causes.
(D) If both the statements | and Il are effects of independent causes.
(E) If both the statements | and Il are effects of some common cause

You can download these exercises by clicking on the download button which is present at the right side.

1. Statements:

I. A huge truck overturned on the middle of the road last night.
Il. The police had cordoned of entire area in the locality this morning for half of the day.

A. Statement | is the cause and statement Il is its effect.
B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.

L] Answer & Explanation

Answer: Option A

Explanation:
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Since a huge truck overturned on the middle of the road last night, so, the police had cordoned off the entire area in the
locality last morning for half of the day.

& View Answer & Explanation

2. Statements:
I. Rural and semi-urban areas in the country have been suffering due to loadshedding for quite some time.

Il. If the Government is not able to overcome the power crisis, load-shedding will be extended even to the urban
areas.

A. Statement | is the cause and statement |l is its effect.
B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.

Ll Answer & Explanation

Answer: Option E
Explanation:

If certain preventive measures are practiced at the rural and semi urban areas the problem will be solved. But if the same is
not practiced even at the cities the problem may roll into the city also, so the two effects are of some common cause.

& View Answer & Explanation

3. Statements:

I. The Reserve Bank of India has recently put restrictions on few small banks in the country.
Il. The small banks in the private and co-operative sector in India are not in a position to withstand the competitions
of the bigger banks in the public sector.

A. Statement | is the cause and statement Il is its effect.
B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.
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L] Answer & Explanation

Answer: Option B
Explanation:

As, the small banks in the private and co-operation sector in India are not in a position to withstand the competitions of the
bigger banks in the public sector, therefore, the Reserve Bank of India has recently put restrictions on few small banks in the
country.

& View Answer & Explanation

4, Statements:

I. The university authority has instructed all the colleges under its jurisdiction to ban use of cell phones inside the
college premises.

II. Majority of the teachers of the college signed a joint petition to the university complaining the disturbances caused
by cell phone ring tones inside the classrooms.

A. Statement | is the cause and statement |l is its effect.
B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.

L1 Answer & Explanation

Answer: Option B
Explanation:

Since the teachers of the colleges complained to the university about the disturbances caused by cell phone ring-tones inside
the class-rooms, the university authority has instructed all the colleges under its jurisdiction to ban use of cell phones inside
the college premises.

B View Answer & Explanation

5. Statements:

I. The Government has reduced the prices of petroleum products by five percent a week after increasing the prices by
ten percent.
Il. The rate of inflation dropped marginally during the last week.

A. Statement | is the cause and statement Il is its effect.
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B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.

L Answer & Explanation

Answer: Option D
Explanation:

Both the statements | and Il are effects of independent causes.

B View Answer & Explanation
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EXERCISE 2 =

6. Statements:

I. The car manufacturing companies have recently increased the prices of midsized cars.
II. The Government recently increased the duty on mid-sized cars.

A. Statement | is the cause and statement Il is its effect.
B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.

L Answer & Explanation

Answer: Option B
Explanation:

Since the government has recently increased the duty on mid-sized cars, therefore, the car manufacturing companies have
recently increased the prices of mid-sized cars.

& View Answer & Explanation

7. Statements:

I. Importance of Yoga and exercise is being realized by all sections of the society.
Il. There is an increasing awareness about health in the society particularly among middle ages group of people.

A. Statement | is the cause and statement Il is its effect.
B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.
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L] Answer & Explanation

Answer: Option A
Explanation:

As the awareness about health in the society is increasing particularly among middle-aged group of people, the importance
of Yoga and exercise is being realized by all sections of the society.

& View Answer & Explanation

8. Statements:

I. The farmers have decided against selling their Kharif crops to the Government agencies.
Il. The Government has reduced the procurement price of Kharif crops starting from the last month to the next six
months.

A. Statement | is the cause and statement Il is its effect.
B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.

L Answer & Explanation

Answer: Option B
Explanation:

Since the government has reduced the procurement price of Kharif crops starting from the last months to the next six months,
therefore, the farmers have decided against selling their Kharif crops to the Government agencies.

& View Answer & Explanation

9. Statements:

I. Many people in the area are reported to be suffering from Malaria.
Il. Private Medical Practitioners in the area have decided to close their clinics for few days.

A. Statement | is the cause and statement Il is its effect.
B. Statement Il is the cause and statement | is its effect.

C. Both the statements | and Il are independent causes.
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D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.

L] Answer & Explanation

Answer: Option D
Explanation:

Both the statements | and Il are effects of independent causes. Because spreading malaria or to be suffering from malaria
may be due to mosquitoes or dirtiness. But the decision of private medical practitioners to close the clinics may be due to
other causes.

& View Answer & Explanation

10. Statements:

I. There was a huge rush of people to the temple last Sunday the 15th of the month.
II. The temple authority had decided to close down the temple for repairs from 17th of the month.

A. Statement | is the cause and statement Il is its effect.
B. Statement Il is the cause and statement | is its effect.
C. Both the statements | and Il are independent causes.
D. Both the statements | and Il are effects of independent causes.

E. Both the statements | and Il are effects of some common cause.

L] Answer & Explanation

Answer: Option B

Explanation:

Since the temple authority had decided to close down the temple for repairs from 17" of the month, hence, there was a

huge rush of people to the temple last Sunday the 15N of the month.

& View Answer & Explanation
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